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The National Association of Clean Air Agencies (NACAA) represents air pollution control agencies in 53 states and territories and over

165 major metropolitan areas across the United States.

State and local air pollution control officials formed NACAA (formerly STAPPA/ALAPCO) over 30 years ago to improve their effectiveness
as managers of air quality programs. The associations serve to encourage the exchange of information among air pollution control officials,
to enhance communication and cooperation among federal, state, and local regulatory agencies, and to promote good management of our

air resources.
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Terminal Learning Objective
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Enabling Learning Objectives
10.1 To identify the
operating principles of
hoods in the capture and
dispersal of pollutants

10.2 To identify the
principles concerning fan
performance in the capture
of pollutants in air control
devices.

10.3 Evaluating the Entire
Industrial Process

Checks on Learning
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Fugitive emissions = Total emissions — Emissionguad by hood
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Calculate fugitive emissions:

Fugitive emissions = total emissions — emissiop$wad by hood
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Calculate stack emissions:

((



Stackemissionss

. 100- b 100- 95 b
Emissiongapturedyhoodx —— = 95™m =4.75"m
prire®y 100 /h

hr 100
$ Lo $ 1+
. <= ) 'S $ ) "
$ T g
)" « 3 " -8
$ " <== C $ )
'$ $$ D=F)' $ $ $ 3 $
''$ DEF+

Calculate fugitive emissions:
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Calculate stack emissions:
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Where
Q = actual volumetric flow rate ftnin)
X = distance from hood face to farthest point of
contaminant release (ft)
Vh = hood capture velocity at distance X (ft/min)
A area of hood opening {jt
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Figure 10-6. Plain duct end (he = 0.93)

Figure 10-7. Flanged duct end (he = 0.49)
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